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BCOM_SEM_V
A-318 Indian Economy:-I

Time: One Hour Max. Marks: 40

Instruction:
Attempt All Questions.

1 Developing countries are divided into------

faaTsirer e FanTmIToTT |Teqrerd it FIOTedT T el ST,

(A)Low Income Countries (B)Middle Income Countries  (C)High Income Countries (D)AIl the above
T Jeq=T TS T 3T~ TS I=T T T FoT a9

2 What are basic characteristics of Indian Economy?
AT ST AT eI =T ol T 19T Hrar?

(A)Heavy population pressure (B)Low per capita Income (C)A” Is true (D)A” and “B” are true
ATREEET qrear aaTa AT TS oI~ 'A” FUET AR 'A“T "B’ qUET

3 The expansion of infrastructure and social services may increase------

AT G T AT TS o= ([aeaea ™ & are ald?

(A)Population (B) Employment (C)iImbalance of development (D)None of the above
AT E LIS faamaTare sreeareT FUATEr ATE

4 Long form of HDI is...........
HDI = &rer &7 &Hore?

(A)Human Development Index (B)Human Diet Index (C)Human Death Index (D)Human Dowry Index

5 Which of the following problems affect the economic development?
FTATATH FUTAT FHEAT AT [qaaras 71T eTded ?

(A)Rapid growth of population (B)Low per capita income (C)Low growth of capital (D)None of the above
AT TR AT AT HT TIEE JeT~T AT HiSaoA 951 T T TR

6 The term underdeveloped country is ......

(A)Imaginary (B)False (C)Relative (D)AIl the above
TS FahET e T 9 a7
7 High proportions of Indian population are engaged in one of the followings.

FTeATAT T HOTCAT &1 Ao ATReEeAT Fvd 3

(A)Service sector (B)Military Department (C)Industrial sector (D)Agriculture sector
AT & HAT & g e RIS
8 What is long form of GDP?
GDP ¥ &9 &7 0 ?
(A)Gross Domestic Product  (B)Gross Development (C)Gross Domestic Policy (D)Growth Derived Product
T SHEEs qIsde Produce T S TifaEr T SRTES WISET
T SqeHE ST

9 What are the measures of flow of goods and services?
T AT HAT HT ATET T8 AT THA ARTAT ST ?
(A)A Total of national Income (B)The criteria of developing  (C)The employment producing (D)None of the above

TR TS FeT=T nation Sector TOATH AT
[EER:ER IR ERIICIRCEIEN TSI IeATET &

10 Long form of CSO is.......
CSO ¥ &% €7 V[ ?
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(A)Chief Security Officer (B)Central Stastical (C)Census Survey (D)Central Service

AR FFGRET A TRaT Organization Organization Organization
11 How many estimates are of National Income in India?

TSI T AHM Gl TR 3 ?
(A)Two (B)One (C)Three (D)Five

T T am =

12 In which year National Income Committee established after independence?
(A)July 1949 (B)August 1948 (C)August 1949 (D)July 1948
T 92,7, ANTEE 92, ¢ ANTEE 92,42, T 9240

13 How many sectors were in conventional series of estimation?

(A)12 (B)14 (C)15 (D)13
R e 94 3

14 What essential factors are defined by CSO for organized sector?
CSO 7 Heled & THIS! FU A ccd ™ Hedh AT=ad died ?

(A)To maintain annul accounts (B) The organizations are under (C)Organization are registered (D)AIl the above
i st T any ACT HOTEAT A AT g9 A

o= AR HAATEr Tur
15 Which one of the following is limitation of National Income Estimation?

FTATATH T T IeTT ATAATA A T HATET FOTCAT?

(A)Unreported illegal Income  (B)Absence of data on Income (C)None of the 'A' and 'B' (D)'A" and 'B' above correct
T TS TREeIT 3eg—  Distribution above TOT AT B IET
T (qavuT=ar Sdhsanr T AT B ATaEr
EECECEIE

16 Which of the following is not a trend of National Income Growth and structure?
B|TATE T HIOTAT TS T&T AT TFAT e, 38 ?
(A)Annual growth rate during  (B)Urban and Rural Income  (C)Share of organized and (D)AIl the above

the plans break-up unorganized sector T g TET
TIAT T ATAAT aT(Nd S8 A7 RATOr Seq=T gYed T A9 T &=
FEr fervrerdfr AT

17 In which state of demographic transition the death rate is high?
ATHHEAT HRHVTATA HUAT HTEIT J &7 I=F HAAT?
(A)Third stgage (B)First stage (C)Second Stage (D)AIl the above
fereer e TIH AT THT AT T q9
18 How many stages sequence in demographic transition?
(A)Tow (B)Five (C)Four (D)Three
T = LIS T
19 What was death in the beginning of the 19th century in advanced countries?
9°, ST STAT=AT GLATAT=AT FBT ST SWTET H &7 et ardr?
(A)10-25 per thousand (B)20-35 per thousand (C)35-50 per thousand (D)35-60 per thousand
90-34 &7 &SN 0-3¥ T EANT 39 Y o T ENT 39 -Ro AT FANT
20 Which state of India shows higher proportion of females per thousands?
WIATATeT 0T o1 &% ST (e ai=r THTor qare Sired 31 ?
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(A)Maharashtra (B)Panjab (C)Kerala (D)Tamil Nadu

qEN TS EEICH Eacy SIECTI Y

21 Which factor determines sex ratio?
FOTAT g [ T THTOT AY=IT Hear?

(A)Literacy (B)Poverty (C)Malnutrition (D)None of the above
rarear TR FITYT T ATa

22 Economic development is generally associated with growth of-----
=TI faarer &7 SEaTIROTTur |TeqTeT S9TST g9t e ?

(A)Population (B)Urbanization (C)Ais True (D)A and B true
ATREAT IETRIIT AFTET AT BaET

23 Migration from the rural area results into-------

TTHTOT WA T ST qe=T TR ®=TeATeT Jehl hlorar?

(A)Increase of employment (B)Increase of Infrastructure  (C)Increase of Industries (D)Increase of population in
TN AT T gfaad ae ST e Urban area
TETATREET qTE

24 What percent of land is possessed by India in world?

STIT=AT AT HEAT=AT - AT et ?

(A)1.5% (B)3.5% (C)2.4% (D)5.0%
94 % 34 % 2% ¥ .0%

25 Occupations are broadly divided into------- types?
FAHTIT AITRTOT AT - T TEA?

(A)Four (B)Two (C)Five (D)Three
E1i8 T I T

26 As per 2009 years data | which sector shared high proportion of employment in India and Pakistan?

T & qTREA S9TT 000, TAT ATHSATT AT FUTCAT & FTd AT TS RATT ATAT?

(A)Manufacturing (B)Mining (C)Agriculture (D)None of the above
JeqrET " FIT TUT I ATEr

27 In advanced countries like England, Japan, the work participation rate is-----------
T, S AT SNEAT YT TS G NNET &y . e

(A)Between 45 to 50% (B)Between 50 to 60% (C)Between 60 to 75% (D)Between 25 to 40%
€Y T Yo AT T Yo T §o AT a0 %o o \9Y =HT &7F Y T ¢ o =T

28 As per census data of 2001, the situation of rural women of India is-----

3009 TAT FUTAN YRATA S U7 Ferri= ferdr ---m----- e

(A)Largely engaged in (B) They have to look after child (C)They have to work like (D)AIl the above
economic activities T, T=gar 9T 9T cooking cleaning etc. TUT T
=Ty FTEI o ST FATT =T T A& aTARET Fresall
SATAT AT
29 When was the work participation rate cone down?
ST FEHTIET & AT q90 HHT HATAT?
(A)In 1961 (B)In 1951 (C)In 1971 (D)None of the above
9268 AT 2249 T 22,99 T T Jebr ATE
30 Service sector is which type of business sector?
HAT &7 |TATATH FIOTT &7 a2
(A)Primary (B)Secondary (C)Tertiary (D)AIl of the above
EIRIECD ga qarr T q

31 Name the country which has higher per capita income?
I=F TTSI% IcT—T AU 9 HUT?
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(A)America (B)England (C)Germany
32 Who is primary factor of production process?
IeITE TFhAde T 9edh Hordr?
(A)Engineer (B)Manager (C)Doctor
ECIPGIE TS ST
33 The direct corelation of energy is with?-------
IoET EEET I HIVTIT STHAT?
(A)Economic Growth (B) The size of per capita (C)A and B true***
EIDE income AT BaET
T SME JHT
34 How many main sources of Energy.............. ?
Fat & VT el ?
(A)Two (B)Three (C)Four
T e ELiS

35 What type of energy of fire wood, vegetable waste, and dried dung?

TEF: ATHS, TATITEAT T AT & Fool o AT TR AR 2

(A) Traditional (B)Non-Commercial (C)Both A and B true
YT FHTINT A =rrfor B 9ET

36 The demand of power in India is increasing because of ----------
fasT=aT TN AT AEvAT - 3T,

(A)Use of modern gadgets (B)Use of domestic appliances (C)Refrigerators
ATYHAE ITHTIET aTIe ST ATIT=AT ATEF=ET ade Ihaivey

37 Which is useful to broden market for goods?
TE AT ATFYS =T (A

(A) Transport (B) Industry (C)Government
ATEqH ATTTET I fasre SECOLY

38 Which train is expected to run between Mumbai to Ahmadabad?

HaE T ARHRIETE A FTAT STIUATET STFTar 318 ?

(A)Bullet Train (B)Passenger Trains (C)Goods Trains
gz o AT o T ATEATITE
39 The communication system comprises-------
HEW AT T TeloT ardi a1 a9 &al---------
(A)Post and telegraphs (B)Broadcasting (C)Television and information
qree wrfor aw STHTITETIT THIT service
IR ATIOr ATfR T Jar
40 Which of the followings cities have Metro Trains?
HTATAT FITCAT IETTT Hel o AET?
(A)Mumbai (B)Delhi (C)Kolkatta
qa3 feetr FAFET
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(D)AIl the above
T q

(D)Labour
C1cED

(D)Only B is true
Fgd B FEET

(D)AIIl the above
T q9

(D)Only B is true
wFd B IUET

(D)AIl the above
TOAT qT

(D)None of the above

T I ATH.

(D)None of the above

FUA JhT ATEr

(D)AIl the above
FoT a9

(D)AIl the above
FoT a9



